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QUESTION 1

Which statement represents detection capabilities of the HTTP preprocessor?
A. You can configure it to blacklist known bad web servers.

B. You can configure it to normalize cookies in HTTP headers.

C. You can configure it to normalize image content types.

D. You can configure it to whitelist specific servers.

Correct Answer: B

QUESTION 2

Suppose an administrator is configuring an IPS policy and attempts to enable intrusion rules that require the operation
of the TCP stream preprocessor, but the TCP stream preprocessor is turned off. Which statement is true in this
situation?

A. The administrator can save the IPS policy with the TCP stream preprocessor turned off, but the rules requiring its
operation will not function properly.

B. When the administrator enables the rules and then attempts to save the IPS policy, the administrator will be
prompted to accept that the TCP stream preprocessor will be turned on for the IPS policy.

C. The administrator will be prevented from changing the rule state of the rules that require the TCP stream
preprocessor until the TCP stream preprocessor is enabled.

D. When the administrator enables the rules and then attempts to save the IPS policy, the administrator will be
prompted to accept that the rules that require the TCP stream preprocessor will be turned off for the IPS policy.

Correct Answer: B

QUESTION 3

A context box opens when you click on an event icon in the Network File Trajectory map for a file. Which option is an
element of the box?

A. Scan

B. Application Protocol
C. Threat Name

D. File Name

Correct Answer: B
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QUESTION 4

What does packet latency thresholding measure?

A. the total elapsed time it takes to process a packet

B. the amount of time it takes for a rule to process

C. the amount of time it takes to process an event

D. the time span between a triggered event and when the packet is dropped

Correct Answer: A

QUESTION 5

Which feature of the preprocessor configuration pages lets you quickly jump to a list of the rules associated with the
preprocessor that you are configuring?

A. the rule group accordion

B. a filter bar

C. alink below the preprocessor heading

D. a button next to each preprocessor option that has a corresponding rule

Correct Answer: C
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